ECE 321 - Quiz #4. Name

2-Port Models, Common Emitter Amplifiers. April 26, 2018
1) Find the 2-port model for the following circuit:
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2) Find the 2-port parameters for the following circuit:
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3) (Analysis) Determine the Thevenin equivalent for R1/R2/ 12V source and the Q-point (Vce, Ic) for the

following circuit. Asssume
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4) Find R1 and R2 so that

+  The Q-point is stabilzied for variations in §  ( (1+B)R. >> R ), and
+  The Q-point is Vce = 6V (Ic = 665.2uA ).
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5) Draw the small-signal model for the following common-emitter amplifier. Assume

» Al capacitors are large (Lglé) = O)
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